Status of Graduates within One Year of Graduation by Program

The pages below show the status of graduates within one year of graduation as self-reported on a graduate follow-up survey. The results represent students from the 2017-18 graduating class.

Related	Related	Unrelated Work	Unrelated Work Not	Continue	Available for	Unavailable	Status	Total	Total	Total Available	Related
Work Full-	Work Part-	Seeking	Seeking	Education	Work but	for Work	Unknown	Graduates	Related	for Related	Employment
time	time	Related	Related	Ludcation	Unemployed	IOI WOIK	OHKHOWH	Giadates	Work	Employment	Rate
.NET Progi	ramming -									zp.royenc	
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	,,,
	English Lar			Certificate			0.071		0.0,1		
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	0.0%	0.0%	,,,
	g - Associa			1	0.070	0.070			0.070	0.070	
<10	<10	<10	0	18	0	0	<10	32	11	12	91.7%
*	*	*	0.0%	56.3%	0.0%	0.0%	*	100.0%	34.4%	37.5%	31.770
Accountin	g Essential	s - Certific			0.070	0.070		100.070	34.470	37.370	
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	IV/A
				lied Scien	ce (520302)	0.076	0.070		0.070	0.070	
<10	0	0 0	0	<10	0	0	<10	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	100.0%
	Sign Langu				0.076	0.076					
0	O O	o 0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%		*			*	*		-	IN/A
	n Program		0.0%		0.0%	0.0%	·		0.0%	0.0%	
	ni Program <10	ming - cer	0	47	-10	0	-10	F7	-10	<10	07.50/
<10 *	*		-		<10 *		<10 *	57	<10 *	× 10	87.5%
		0.0%	0.0%	82.5%	*	0.0%		100.0%	*	*	
	Associate o			.40			.40	.40	.10	.40	400.00/
<10 *	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	-	*	*	
U	nspection -		. ,	.40			.10	26	20	24	02.20/
17	<10	<10 *	<10 *	<10 *	0	0	<10 *	36	20	24	83.3%
47.2%	*				0.0%	0.0%	*	100.0%	55.6%	66.7%	
	Administra			•			4.0	0.4	0.4	22	05.007
28	<10	<10 *	<10	36	0	0	10	81	31	32	96.9%
34.6%	*		*	44.4%	0.0%	0.0%	12.3%	100.0%	38.3%	39.5%	
			_		ls - Certificat		_		_	_	
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	
					ociate of App						
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	
					ociate of Scie						
<10	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	
Business F	Principles -	Certificate	e (520101)								
12	<10	<10	0	98	0	0	<10	119	14	16	87.5%
10.1%	*	*	0.0%	82.4%	0.0%	0.0%	*	100.0%	11.8%	13.4%	
Chemistry	- Associat	e of Scienc	ce (400501)								
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	
Computer	Science - A	Associate o	of Science ((110701)							
<10	<10	0	0	21	<10	0	<10	37	10	12	83.3%
*	*	0.0%	0.0%	56.8%	*	0.0%	*	100.0%	27.0%	32.4%	
			C	- Λ i	ata of Scions						
Constructi	ion Manage	ement and	Supervisio	on - Associ	ate of Science	e (322001)					
Constructi <10	ion Manage 0	ement and 0	0	<10	0	0	0	<10	<10	<10	100.0%

Continue on next page

Melated Melated Mork Work Work Work Seeking Education Work Work For Work Work Work Work Work Melated Mork Melated Mork Entangle Mork												
Work	Related	Related		Unrelated		Available for		Ct.	-	Total		Related
The continue The Seeling Se												Employment
Creative Writing - Associate of Fine Arts (231302)	time	time	_		Education	Unemployed	for Work	Unknown	Graduates	Work		Rate
0 <10 < 0 < 0 < 0 < 0 < 0 < 0 < 0 < 0 <	Croativa	Vriting Ac			221202\						Employment	
0.0%		_			-	0	~10	~10	~10	~10	~10	100.0%
Criminal Justice - Associate of Science (430104)									*			100.0%
Commerce Commerce						0.0%			·			
## 0.0%					•	0	0	~10	26	~10	<10	100.0%
E-Commerce Essentials - Certificate (520208) 0									-			100.0%
0						0.0%	0.0%		100.076			
E-Commerce Professional - Certificate (520208) 0					,	0	0	0	~10	~10	<10	100.0%
E-Commerce Professional - Certificate (520208) 0												100.0%
0 <10						0.0%	0.0%	0.0%	·			
Comparison Com					•	0	0	0	~10	~10	~10	100.09/
Education - Associate of Science (130101) <10					× ×						× 10	100.0%
Company Comp					<u> </u>	0.0%	0.0%	0.0%	<u> </u>		<u> </u>	
* 0.0% 0.0% 0.0% * 0.0% 0.0% * 100.0% * * *					-10		0	-10	10	-10	-10	100.00/
Entrepreneurship - Associate of Applied Science (520701) <10					× ×						× 10	100.0%
410					·-: /F2		0.0%	*	100.0%	*	<u> </u>	
## 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.								_	-10	-10	-10	100.00/
Entrepreneurship - Certificate (520701)	<10											100.0%
C10	T				0.0%	0.0%	0.0%	0.0%		*	<u> </u>	
* 0.0% 0.0% 0.0% * 0.0% 0.0% 0.0% 0.0% * * *		•			-10			_	-10	-10	-10	100.00/
Exercise Science Transfer Pathway - Associate of Science (310505) 0 <10 <10 <10 <10 <10 0 0 <10 <10 <10 <1					<10							100.0%
0 <10 <10 <10 <10 <10 <10 0 0 0 <10 <10								0.0%	т		Т	
0.0%								40	40	4.0	- 10	50.00 /
Finance and Investments - Certificate (520803) 0					<10							50.0%
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0					7	0.0%	0.0%	т	т		Т	
0.0% 0.0% 0.0% 0.0% * 0.0% 0.0% * * 0.0% 0.0%				•	•	0		-10	-10	_	0	N1 / A
Finance Management - Associate of Applied Science (520801) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0					<10						-	N/A
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0					T		0.0%	т	т	0.0%	0.0%	
0.0% 0.0% <th< td=""><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td>.40</td><td>.40</td><td>•</td><td></td><td>21/2</td></th<>		-						.40	.40	•		21/2
Game Programming - Certificate (500411) 0 0 0 0 0 < 10 0 0 0 0 0 0 0 0 0 0 0 0 0											-	N/A
0 0 0 0 0 0 0 0 0 0 N/A 0.0%					0.0%	0.0%	0.0%	*	•	0.0%	0.0%	
0.0% 0.0% <th< td=""><td></td><td>-</td><td></td><td></td><td>40</td><td></td><td></td><td></td><td>40</td><td></td><td></td><td></td></th<>		-			40				40			
Graphic Design - Associate of Science (500409) <10											-	N/A
<10						0.0%	0.0%	0.0%	*	0.0%	0.0%	
* * 0.0% 0.0% * 100.0% * * Health Sciences Broad Field - Associate of Science (510000) 0 0 0 0 0 10 0 10 10 100.0% 0 <10		-				_	_					
Health Sciences Broad Field - Associate of Science (510000) 0 <10	<10				<10					<10	<10	100.0%
0 <10	*				*		0.0%	*	100.0%	*	*	
0.0% * 0.0% 0.0% 0.0% 0.0% * * * Histotechnology - Associate of Applied Science (511008)					•							100 557
Histotechnology - Associate of Applied Science (511008) <10					<10						<10	100.0%
<10					*		0.0%	0.0%	*	*	*	
* 0.0% 0.0% 0.0% 0.0% 0.0% * * * * * Human Services - Associate of Science (440000) 0 0 0 0 0 0 0 10 0 10 10 10 10 10 0.0%												
Human Services - Associate of Science (440000) 0 <10								<10	<10	<10	<10	100.0%
0 <10						0.0%	0.0%	*	*	*	*	
0.0% * 0.0% 0.0% 0.0% 0.0% * * * * Individualized Studies - Associate of Science (309999) 0 0 0 0 0 0 0 0 0 0 N/A 0.0% 0.0% 0.0% * 0.0% 0.0% * * 0.0% 0.0% 0.0% Internet Programming - Certificate (110202) 0 0 <10				•	•							
Individualized Studies - Associate of Science (309999) O												100.0%
0 0 0 0 <10							0.0%	0.0%	*	*	*	
0.0% 0.0% 0.0% * 0.0% 0.					•	. *						
Internet Programming - Certificate (110202) <10											-	N/A
<10 0 0 0 <10 <10 0 <10 <10 <10 <10 <10						0.0%	0.0%	*	*	0.0%	0.0%	
		U	U		,							
		_										50.0%
* 0.0% 0.0% * * 0.0% 0.0% * *	*	0.0%	0.0%	0.0%	*	*	0.0%	0.0%	*	*	*	

Continue on next page

			l		I						
Related	Related	Unrelated	Unrelated	Continue	Available for	Unavailabla	Chatus	Total	Total	Total	Related
Work Full-	Work Part-	Work Seeking	Work Not Seeking	Continue Education	Work but	Unavailable for Work	Status Unknown	Total Graduates	Related	Available for Related	Employment
time	time	Related	Related	Luucation	Unemployed	IOI WOIK	Olikilowii	Glaudates	Work	Employment	Rate
Law Enfor	cement - Δ	ļ	f Science (4	130107)						Emproyment	
<10	<10	<10	0	<10	0	0	14	30	<10	11	63.6%
*	*	*	0.0%	*	0.0%	0.0%	46.7%	100.0%	*	36.7%	03.070
Liheral Ar	ts and Scie		ociate of Ar			0.070	40.770	100.070		30.770	
36	15	<10	<10	233	/ <10	0	56	360	51	66	77.3%
10.0%	4.2%	*	*	64.7%	*	0.0%	15.6%	100.0%	14.2%	18.3%	77.570
		riate of An	plied Scien		1)	0.070	13.070	100.070	17.2/0	10.5/0	
<10	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	*	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	100.070
Managem	ent - Certif				0.070	0.070	0.070				
<10	0	0	0	41	0	0	<10	49	<10	<10	100.0%
*	0.0%	0.0%	0.0%	83.7%	0.0%	0.0%	*	100.0%	*	*	100.076
			ed Science		0.070	0.070		100.070			
<10	<10	0	0	<10	0	0	<10	<10	<10	<10	100.0%
*	*	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	100.076
Marketine			te (521801)		0.070	0.070					
<10	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	*	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	100.076
Mathema	tics - Assoc		ence (2701))1\	0.070	0.070	0.070				
<10	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	100.076
				nlied Scier	nce (511004)	0.070					
<10	<10	0gy - Assor	0	<10	0	0	<10	<10	<10	<10	100.0%
*	*	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	100.076
Microsoft			rtificate (5	20407)	0.0%	0.076					
<10	0	<10	0	15	0	0	<10	22	<10	<10	75.0%
*	0.0%	*	0.0%	68.2%	0.0%	0.0%	*	100.0%	*	*	73.0%
			rtificate (5		0.0%	0.076		100.076			
0	0	0	0	0	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	*	*	0.0%	0.0%	IN/A
			rtificate (5		0.0%	0.076			0.0/6	0.076	
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	100.0%
	sociate of				0.0%	0.0%	0.0%				
0	0	0	0	<10	0	0	0	~10	0	0	NI/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	<10 *	0.0%	0.0%	N/A
				12001)	0.0%	0.0%	0.0%		0.0%	0.0%	
			Science (51		0	0	~10	07	26	26	100.0%
24	12 49/	0	0	53	0	0 0%	<10 *	97	36	36	100.0%
24.7%	12.4%	0.0%	0.0%	54.6%	0.0%	0.0%	· ·	100.0%	37.1%	37.1%	
-			- Certificat			0	-10	AC	~10	~10	07 50/
<10 *	<10 *	0	0	36	<10 *	0 0%	<10 *	46	<10 *	<10	87.5%
		0.0%	0.0%	78.3%	· ·	0.0%		100.0%		*	
	- Associate			~10	-10	0	-10	10	-10	~10	77.00/
<10 *	<10 *	0.0%	<10 *	<10 *	<10 *	0 00/	<10 *	19	<10 *	<10 *	77.8%
			·r	-r		0.0%	· *	100.0%	· ·		
_	- Certificat			.40		0	.10	4.0	40	44	00.007
<10 *	<10 *	<10	0	<10	0	0	<10	16	10	11	90.9%
		*	0.0%	*	0.0%	0.0%	*	100.0%	62.5%	68.8%	
	Frainer - Ce			4.0				40	4.0	10	100.001
0	<10	0	0	<10	0	0	<10	<10 *	<10 *	<10 *	100.0%
0.0%	*	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	

Continue on next page

Related Work Full- time	Related Work Part- time	Unrelated Work Seeking Related	Unrelated Work Not Seeking Related	Continue Education	Available for Work but Unemployed	Unavailable for Work	Status Unknown	Total Graduates	Total Related Work	Total Available for Related Employment	Related Employment Rate
Physical E	ducation -	Associate (of Science	(131314)							
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	
Pre-Engin	eering - As	sociate of	Science (14	40102)							
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	0.0%	0.0%	
Project Ma	anagemen	Essentials	s - Certifica	ite (520211							
<10	0	<10	0	<10	0	0	0	12	<10	<10	66.7%
*	0.0%	*	0.0%	*	0.0%	0.0%	0.0%	100.0%	*	*	
Public Wo	rks - Certif	icate (1502	- /								
<10	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	*	*	
Small Busi	iness Acco	unting - Ce	rtificate (5	20302)							
16	<10	<10	0	94	<10	0	16	131	19	21	90.5%
12.2%	*	*	0.0%	71.8%	*	0.0%	12.2%	100.0%	14.5%	16.0%	
Spanish La	anguage - C	ertificate	(160905)			'				'	
<10	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	*	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	
Studio Art	s - Associa	te of Fine	Arts (50070	12)							
0	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
0.0%	*	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	
Theatre - A	Associate c	of Fine Arts	(500501)		1						
0	0	0	0	<10	<10	0	0	<10	0	<10	0.0%
0.0%	0.0%	0.0%	0.0%	*	*	0.0%	0.0%	*	0.0%	*	
Web Grap	hic Design	Programn	ning and e-	Commerc	e - Certificate	e (110801)				'	
0	<10	0	0	0	0	0	<10	<10	<10	<10	100.0%
0.0%	*	0.0%	0.0%	0.0%	0.0%	0.0%	*	*	*	*	
Wellness	Coach - Ce	rtificate (5	10001)								
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	

Source: NHCC Graduate Follow-up Survey